Cross section [pb/ GeV ]

Central value (stat) (bgr) (other syst) (total)
Bin M(WZ) Inclusive
[100, 160] 0.001 +0.011 4+ 0.005 =+ 0.005 (£ 0.013)
[160, 200] 0.430 +0.038 4 0.009 +0.012 (+ 0.041)
[200, 300] 0.473 +0.018 4 0.009 + 0.005 (£ 0.020)
[300, 600] 0.095 +0.004 4 0.002 + 0.001 (£ 0.004)
(600, 3000] 0.001 + 0.000 4 0.000 =+ 0.000 (% 0.000)
Bin M(WZ) eee
[100, 160] 0.000 +0.035 4+ 0.011 + 0.010 (£ 0.038)
[160, 200] 0.515 +0.120 4+ 0.034 + 0.024 (£ 0.127)
[200, 300] 0.370 +0.050 4+ 0.013 =+ 0.009 (£ 0.053)
[300, 600] 0.118 +0.012 4 0.003 =+ 0.002 (£ 0.012)
(600, 3000] 0.001 + 0.000 4 0.000 =+ 0.000 (% 0.000)
Bin M(WZ) eey
[100, 160] 0.000 +0.029 4 0.006 + 0.010 (£ 0.031)
[160, 200] 0.458 +0.097 +0.014 + 0.037 (£ 0.105)
[200, 300] 0.465 +0.041 4+ 0.009 + 0.013 (£ 0.044)
[300, 600] 0.083 +0.009 4 0.002 =+ 0.002 (£ 0.009)
(600, 3000] 0.001 +0.000 4 0.000 + 0.000 (£ 0.000)
Bin M(WZ) pue
[100, 160] 0.006 +0.024 4 0.006 +0.014 (£ 0.028)
[160, 200] 0.415 +0.075 40.017 + 0.024 (£ 0.081)
200, 300] 0.489 +0.035 +0.013 =+ 0.008 (£ 0.038)
[300, 600] 0.090 +0.008 =4 0.002 + 0.001 (% 0.008)
(600, 3000] 0.001 + 0.000 4 0.000 =+ 0.000 (% 0.000)
Bin M(WZ) UUU
[100, 160] 0.009 +0.016 4 0.004 + 0.010 (£ 0.019)
[160, 200] 0.384 +0.056 =+ 0.010 + 0.021 (£ 0.061)
[200, 300] 0.507 +0.028 4 0.007 =+ 0.008 (% 0.030)
[300, 600] 0.099 + 0.006 =+ 0.002 =+ 0.002 (% 0.007)
(600, 3000] 0.001 + 0.000 4+ 0.000 =+ 0.000 (% 0.000)




